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The fTgures ln the margln lndlcate
tull marks for the questlons.

Anstaer ang IUE questions.

1. The velocity vector in a fluid flow is given

by v = +x3i -tox2gj +zti.
Find the velocity and acceleratron at (2,2, 3l
at time = 2 units.

2. Using Buckingham's z theorem express the
'V', velocity through circular orifice in terms
of dimensionless parameters. 'V' depends
upon Head ?{'causing t}re flow, 'D'diameter
of the orifice, ',u'coefhcient of viscosity, p'
density of the fluid and 'g' acceleration due
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to gravity.
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3. Write short notes on : 4x5=2O

(a) Streamlines, Pathlines and Streaklines

(b) Velocity Potential and Stream Function

4. (a)
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2x7O=2O



6. The water is flowing through a pipe of length
100m having diameter of 60omm at the
upper end and 3o0mm at the lower end,
if the pressure at the higher end is
l9'62Nlon2, find the pressure at the lower
end, if discharge is 501/s. The pipe has a
slope of I in 30.
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